

Name: Osasenaga Hero-Douglas Aghedo

Matric No: 19/MH804/054

MAT 104 ASSIGNMENT

1 $\int \frac{11-3x}{x^2+2x-3} dx$

$$x^2+2x-3 = (x+3)(x-1)$$

$$\frac{11-3x}{x^2+2x-3} = \frac{A}{x+3} + \frac{B}{x-1}$$

$$\frac{11-3x}{x^2+2x-3} = \frac{A(x-1) + B(x+3)}{(x+3)(x-1)}$$

$$11-3x = A(x-1) + B(x+3)$$

$$F(-3) \Rightarrow 11-3(-3) = A(-3-1) + B(-3+3)$$

$$\frac{20}{-4} = \frac{-4A}{-4}$$

$$A = -5$$

$$F(1) \Rightarrow 11-3(1) = A(1-1) + B(1+3)$$

$$\frac{8}{4} = \frac{4B}{4}$$

$$B = 2$$

$$\int \frac{11-3x}{x^2+2x-3} dx = \int \frac{-5}{x+3} dx + \int \frac{2}{x-1} dx$$

$$\int \frac{-5}{x+3} dx \Rightarrow \text{Let } u = x+3$$

$$\frac{du}{dx} = 1, dx = du$$

$$= \int \frac{-5}{u} du \Rightarrow -5 \int \frac{1}{u} \cdot du$$

$$= -5 \ln u$$

$$= -5 \ln(x+3)$$

$$\int \frac{2}{x-1} dx \Rightarrow \text{Let } u = x-1$$

$$\frac{du}{dx} = 1, \quad du = dx$$

$$\int \frac{2}{x-1} dx = \int \frac{2}{u} du \Rightarrow 2 \int \frac{1}{u} \cdot du$$

$$= 2 \ln u = 2 \ln(x-1)$$

$$\therefore \int \frac{11-3x}{x^2+2x-3} = 2 \ln(x-1) - 5 \ln(x+3) + C$$

$$2. \int \frac{4x-16}{x^2-2x-3} dx$$

$$x^2-2x-3 = (x-3)(x+1)$$

$$\frac{4x-16}{x^2-2x-3} = \frac{A}{x-3} + \frac{B}{x+1}$$

$$\frac{4x-16}{x^2-2x-3} = \frac{A(x+1) + B(x-3)}{(x-3)(x+1)}$$

$$4x-16 = A(x+1) + B(x-3)$$

$$f(3) \Rightarrow 4(3)-16 = A(3+1) + B(3-3)$$

$$12-16 = 4A$$

$$\frac{-4}{4} = \frac{4A}{4}$$

$$A = -1$$

$$f(-1) \Rightarrow 4(-1)-16 = A(-1+1) + B(-1-3)$$

$$-4-16 = -4B$$

$$\frac{-20}{-4} = \frac{-4B}{-4}$$

$$B = 5$$

$$\int \frac{4x-16}{x^2-2x-3} dx = \int \frac{-1}{x-3} dx + \int \frac{5}{x+1} dx$$

$$\int \frac{-1}{x-3} dx \Rightarrow \text{let } u = x-3$$

$$\frac{du}{dx} = 1, du = dx$$

$$\int \frac{-1}{x-3} dx = \int \frac{-1}{u} du = -1 \ln u$$

$$= -\ln(x-3)$$

$$\int \frac{5}{x+1} dx \Rightarrow \text{let } u = x+1$$

$$\frac{du}{dx} = 1, du = dx$$

$$\int \frac{5}{x+1} dx = \int \frac{5}{u} du \Rightarrow 5 \int \frac{1}{u} du$$

$$= 5 \ln u$$

$$= 5 \ln(x+1)$$

$$\therefore \int \frac{4x-16}{x^2-2x-3} dx = -\ln(x-3) + 5 \ln(x+1) + C$$

or

$$\int \frac{4x-16}{x^2-2x-3} dx = \underline{\underline{5 \ln(x+1) - \ln(x-3) + C}}$$

$$3 \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

$$2x^2 - 9x - 35 = A(x^2 + x - 2) + B(x^2 + 4x + 3) + C(x^2 - x - 2)$$

$$2x^2 - 9x - 35 = Ax^2 + Ax - 2A + Bx^2 + 4Bx + 3B + Cx^2 - Cx - 2C$$

$$2x^2 - 9x - 35 = (A+B+C)x^2 + (A+4B-C)x + (-2A+3B-2C)$$

$$A+B+C = 2 \quad \text{--- (1)}$$

$$A+4B-C = -9 \quad \text{--- (2)}$$

$$-2A+3B-2C = -35 \quad \text{--- (3)}$$

$$\text{From eqn (1) } A = 2 - B - C \quad \text{--- (4)}$$

$$\text{From eqn (2), } 2 - B - C + 4B - C = -9$$

$$4B - B - C - C = -9 - 2$$

$$3B - 2C = -11 \quad \text{--- (5)}$$

$$\text{From eqn (3), } -2(2 - B - C) + 3B - 2C = -35$$

$$-4 + 2B + 2C + 3B - 2C = -35$$

$$5B = -35 + 4$$

$$5B = -31 \quad \text{--- (6)}$$

Using Elimination method betw eqn (5) and Eqn (6)

$$3B - 2C = -11$$

$$9B + 4C = -23$$

Multiplying eqn (5) by 3 and Eqn (6) by 3, we have

$$27B - 18C = -33$$

$$\underline{-27B + 12C = -69}$$

$$-30C = -30$$

$$C = 1$$

Substitute $C = 1$ into eqn (5)

$$3B - 2C = -11$$

$$3B - 2 = -11$$

$$3B = -11 + 2$$

$$3B = -9$$

$$B = -3$$

Finally substitute $B = -3$ and $C = 1$ into eqn (1)

$$A + B + C = 2$$

$$A + (-3) + 1 = 2$$

$$A - 3 + 1 = 2$$

$$A = 2 + 3 - 1$$

$$A = \underline{4}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = \int \frac{4}{x+1} dx + \int \frac{-3}{x-2} dx + \int \frac{1}{x+3} dx$$

$$\int \frac{4}{x+1} dx \Rightarrow \text{Let } u = x+1,$$

$$\frac{du}{dx} = 1, du = dx$$

$$\int \frac{4}{x+1} = \int \frac{4}{u} \cdot du = 4 \ln u = 4 \ln(x+1)$$

$$\int \frac{-3}{x-2} dx = -3 \ln u = 3 \ln(x-2)$$

$$\int \frac{1}{x+3} dx = \ln u = \ln(x+3)$$

$$\therefore \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = 4 \ln(x+1) - 3 \ln(x-2) + \ln(x+3) + C$$